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20,000,000%14l= 20,000
37| 7HIE 99,000 2,000 97,000
A2 SHIS 99,000 2,000 97,000
405 AtAR|SH| 99,000 2,000 97,000
01 AHILUEZZISH| 99,000 2,000 97,000
Ot2F AL 1Hig §10[3 72
50,000,000x14l= 50,000
OF27IA=E2447] (BY,0ts) 714
4,500,000x2 CH= 9,000
O84E+d sEASA d-uey| 10 21
4,000,000 1 CH= 4,000
OFZAM TV 10 ¢
1,000,000 1 CH= 1,000
O7lg YEEE A 7Y
35,000,000%1 = 35,000
HI7ts 8|2 S 571,000 505,000 66,000
= 66,000
NZpezra 505,000
0IZFRH20| A 571,000 505,000 66,000
== 66,000
N = 505,000
402 DIZIZF20|Z 571,000 505,000 66,000
Zngzrz 66,000
N = 505,000




(&3]
012 A0t @ZOFRE : &H(6), Mot -E . 2
OTUAIY : B HAZ @TISIAY  HITISHHIAAZS @MTAIY : BIZAHEOIH @ : BIzix=O (e - 24
] U
T2, FOHLR, H YA, TIRIAY MRS, 2 M o) Gy | S
01 QUZIAEAIYE 2 (RFA|AHJ) 571,000 505,000 66,000
OL% & SUZ 2 IHZAIY
566,000,000 14]= 566,000
2NEZ3 66,000
== 500,000
OA2]|H LAY S ZHIALY
5,000,000 14l= 5,000
CiIBIH[(1)/0iH]H| 200,000 277,517 AT77,517
Of| 5| B] (R-2 0| 4) 200,000 277,517 AT77,517
OilB[8[ (RH20f|4F) 200,000 277,517 AT77,517
Oi|B1 5| (R+=20] ) 200,000 277,517 AT77,517
301 OflH]H| 200,000 277,517 A~T77,517
01 stofH|y| 200,000 277,517 A77,517
OZ204|4F offH]H]
200,000,000= 200,000




